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Handout 3: Climate Change Quiz Answers

Answers are given in red italics. (Note; there may be more than one!)   Names of sources are given in bold type.
1.  Scientists disagree about whether climate change is a result of human activity or natural causes.
True or False?  

True 

The Heartland Institute 
 “There is no scientific consensus on the human role in climate change.”
https://www.heartland.org/_template-assets/documents/publications/one_page_summary_of_ccr-ii.pdf  [accessed 30.9.18]
False

NASA: https://climate.nasa.gov/causes/ [accessed 2.10.18]

“Most climate scientists agree the main cause of the current global warming trend is human expansion of the ‘greenhouse effect’ — warming that results when the atmosphere traps heat radiating from Earth toward space”.
2. If we don’t cut our emissions, how much will the temperature rise by 2100? 

a) 2o C or less

b) about 4o C
 
c) about 6o C


a) The Investor’s Business Daily website has an article citing Nic Lewis and Judith Curry’s claim that the earth’s temperature will not warm by 2o C even if we don’t cut emissions.  Lewis and Curry’s study was published in The Journal of Climate.
https://www.Investor’s.com/politics/editorials/global-warming-computer-models-co2-emissions [accessed 6.10.18]
https://niclewis.files.wordpress.com/2018/04/lewis_and_curry_jcli-d-17-0667_accepted.pdf  [accessed 6.10.18]
b) The UN’s Intergovernmental Panel on Climate Change predict a rise of 4o C in its Fifth Assessment Report.

https://www.ipcc.ch/pdf/assessment-report/ar5/wg3/ipcc_wg3_ar5_summary-for-policymakers.pdf  [accessed 30.9.18, now available at https://www.ipcc.ch/site/assets/uploads/2018/02/SYR_AR5_FINAL_full.pdf, accessed 1.1.19]
c) The Earth League predict a rise of up to 6o C.  https://www.independent.co.uk/environment/climate-change/global-warming-experts-say-temperatures-could-rise-by-6c-by-2100-with-cataclysmic-results-10193506.html [accessed 30.9.18]
3.  Fill the gap with one of the figures below.  “If the average global temperature rises to ______degrees Celsius, humans won’t be able to adapt, and some scientists say this will mean the end of civilisation.”

a) 4 


b) 6


c) 8


A 2015 report by the UNFCCC says that it would be difficult or impossible for water supplies, agriculture and other systems all over the world to adapt a rise of 4 °C, and that there would probably be a higher risk of conflict, migration, malnutrition and flooding.

https://unfccc.int/resource/docs/2015/sb/eng/inf01.pdf  [accessed 30.9.18]
Professor Lonnie Thompson says, “Virtually all of us [climatologists] are now convinced that global warming poses a clear and present danger to civilization.” Behavior Analyst, 2010 Fall, Vol.33 (2), pp.153-170

https://link-springer-com.sheffield.idm.oclc.org/content/pdf/10.1007%2FBF03392211.pdf  [accessed 30.9.18]
4. By how much do we need to cut our net global emissions by 2040 to keep the temperature to 2 degrees or below?


a) up to 20 % 

b) 50-60%
c) 90- 100%  

a)  See Question 2, Answer a).  The Investor’s Business Daily website has an article which cites Nic Lewis and Judith Curry’s claim that the earth’s temperature will not warm by 2o C even if emissions are not cut.  

b)  The European Commission aims to cut emissions by 60 % by 2040.  Although this aim is for Europe and not the whole world, developed countries produce most of the planet’s greenhouse gas emissions.
 https://ec.europa.eu/clima/policies/strategies/2050_en  [accessed 30.9.18]
c) A paper published in the journal Nature says we should cut net emissions to zero by 2040.
https://www.independent.co.uk/environment/world-zero-carbon-emissions-before-2040-two-decades-climate-change-global-warming-greenhouse-gases-a7682001.html
https://www.nature.com/articles/ncomms14856  [accessed 30.9.18]
5. “To solve the problem of climate change, the use of fossil fuel must end as soon as possible”.  

True or False?  

True: 

Jeff Tollefson, from the journal Nature : https://www.nature.com/articles/d41586-018-04931-6  [accessed 30.9.18]  says that scientists disagree about how much longer we can continue to emit carbon into the atmosphere if we want to stop the temperature rising above 1.5 °C.  Some say we have 10 to 15 more years, others that we reached the limit 6 years ago.  But Tollefson says many researchers think that a rise of less than 2°C is impossible now.
#KeepItInTheGround say that some of the projects for finding oil and gas that are happening now will need to be stopped early to keep the temperature rise below 2˚C.
http://keepitintheground.org/#read-the-letter [accessed 30.9.18]
False: 

The UN Chronicle says that technology called capture and storage (CCS) can be used to reach our CO2 emission reduction targets while still burning fossil fuels.  CCS means catching the carbon before it reaches the atmosphere and burying it underground. https://unchronicle.un.org/article/role-fossil-fuels-sustainable-energy-system accessed 30.9.18]
Equinor say that the natural gas they sell to Europe is helping the EU and other countries to cut emissions (perhaps because gas is less “dirty” than other fossil fuels like coal).  They say that this is the reason they continue to look for and invest in new oil and gas. (p. 5)
https://www.equinor.com/content/dam/statoil/image/how-and-why/climate/A4-climate-roadmap-digital.pdf  [accessed 30.9.18]
6.   These are all good ways to cut personal carbon emissions: always turn off unused lights, never drink bottled water and never use a new plastic bag.  

True or False?  

· Using 5 plastic bags a week for a year = 2.5 kg of greenhouse gas emissions (p. 18)

· Drinking one plastic bottle of water per day for a year = 58.4 kg (p. 43)

· Leaving 1 low-energy lightbulb on for a year = 90 kg (p. 100)

· Leaving 1 incandescent lightbulb on for a year = 500 kg (p. 100)

Compare:

· One cheeseburger a day for a year = 910kg (p. 86)
· Using your mobile phone for one hour per day for a year = 1,250 kg (p. 113)

· One economy class flight from London to Hong Kong = 3,400 kg (3.4 tonnes) (p. 135)
Berners-Lee, M. (2010).  How bad are bananas? London: Profile Books Ltd.   
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